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1. Insertlarithmetic means between > and -4
(i) ! (ii) > (iii) 2 (iv) > (v)

i) - ii i) - iv) - v) -

8 8 3 5 8

The product of two numbers is440 and their arithmetic mean is21 .
Find the two numbers.

(i) (21,23) (i) (24,22) (iii) (20,22) (iv) (22,22) (v) (20,21)

3. The first term of the A.P.8,9,10,11,12,...=
(i) 10 (ii) 8 (iii)) 11 (iv) 9 (v) 12

4. Find the sum of first 61 natural numbers

(i) 1892 (ii) 1893 (iii) 1889 (iv) 1890 (v) 1891

5. Which term of the A.P.8,15,22,...is1137?

(i) tg () b (i) &, (V) s (V) £

8 69 37
How many terms of the A.P. =, —,—,. . .are needed to
540 20

549
make the sum — ?
20

(i) 10 (i) 11 (iii) 13 (iv) 12 (v) 15

7. Givena=3,d=4,n=15,find¢,
(i) 62 (i) 60 (iii)) 59 (iv) 58 (v) 57

Find the sum of the following A.P. series
(9x+9y),(16x+y),(23x=7y)...to8terms

(i) (203x=97y) (i) (217x—113y) (i) (189x—216y) (iv) (207x—198y) (v) (268x—152y)

) 1 11 19
9. The common difference of the A.P. -, —,— ,...=
8 24 24

(i) (j) (i) . (iii) : (iv) 1
3 5 3

10. Givent,=101,n=13,5,=689, findd
(i) 7 (ii) 10 (iii) 5 (iv) 8 (v) 9



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

, 513 8 19 11
Findt,ofthe AP—,— ,—,—,-
36 3 6 3

yeos s

(i) (1’7+5) (i) (1’7+17) (iii) (7’7+7) (iv) (—'5/7+7) (v) (1n+7)
Vg W g S g ) AV A= gl W T

. 101 14
Thetj,of an AP. is 45 and the t4is 5 .Find t;.

(i) >0 (ii) 0 (iii) >0 (iv) >8 (v) >0
45 5 47 45 43

If x#y and the sequences x ,a;,a,,yand x,b;,b,,y

. d;—ay
each are in A.P., then =
2~ by

(')2(")3('")4(')( ) (v) 1
g o (i) S V) () (v

Find ¢,of the A.P5,12,19,. ..
(i) (9n=2) (ii) (7n+3) (i) (7n=2) (iv) (7n+5) (v) (5n-2)

Givena=7,d=3,5,=171, find n
(i) 7 (i) 10 (i) 12 (iv) 9 (v) 8

The t;,of an A.P. is57 and the ,4is92 .Find 5.
(i) 23 (i) 25 (iii) 21 (iv) 20 (v) 22

Find the sum of all natural numbers between 100 and 200 which are multiples of 3?

(i) 4951 (ii) 4948 (iii) 4950 (iv) 4949 (v) 4953

Givent,=94,n=14,5,=679, find a
(i) 2 (i) 5 (i) 0 (iv) 3 (v) 4

59 77
Ifa=-—andb=—,
18 18

the arithmetic mean of aand b =

(i) > (i) > (iii) 32 (iv) 4 (v) >
o= ) g (i) (v V) 17

23
The sum of first three terms of an A.P. is .8

. . . 1495
while their product is - .Find the A.P.
1728

5 7 5 17 7 5 3 7 5 23 13 7 31 17
6'24"12" "

i) —.,1,—,... (i) —, ST e
W 6 6 (i 6 24 12

iii v e (V) =
i 8 48 ) 6 24 12
Determine t;gof an A.P whose £, 4is 75 and common difference is8

(i) 139 (ii) 137 (iii) 142 (iv) 140 (v) 138



22.

23.

24.

25.

Thetzof an A.Pispandt,is g .Findt;and .

(i) (-8p+9q),(—pn+3p+qgn-2q) (i) (-7p+8q),(—pn+dp+qgn-3q) (i) (-7p+8q),(—pn+p+qgn—q)

(iv) (—=4p+6q),(—pn+7p+gn-5q) (V) (-6p+7q).(—pn+dp+qn-3q)

The sum of first three terms of an A.P. is36
while their product is1620 .Find the A.P.

(i) 10,13,16,... (i) 9,9,9,... (i) 9,11,13,... (iv) 12,15,18,... (v) 9,12,15,...

Find ¢, of the A.P9,13,17,21,25,. ..
(i) (4n+9) (ii) (4n+14) (i) (4n+5) (iv) (n+5) (v) (5n+5)

The measures of the interior angles of a convex polygon are in A.P.
If the smallest angle is133 and the largest angle is155,
then the number of sides of the polygon is

(i) 11 (i) 10 (iii) 9 (iv) 8 (v) 12



Assignment Key

1) (v) 2) (iii) 3) (ii) 4) (v) 5) (v) 6) (iv)
7) (iii) 8) (v) 9) (iii) 10) (iv) 11) (v) 12) (i)
13) (v) 14) (iii) 15) (iv) 16) (v) 17) (iii) 18) (iv)
19) (ii) 20) (iv) 21) (i) 22) (ii) 23) (v) 24) (iii)
25) (i)
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